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QUESTION 1

Given: Which two changes need to be made to make this class compile? (Choose two.)

public interface API { //line 1
public wvoid checkValue (Object wvalue)
throws IllegalArgqumentException; //line 2
public boolean isValueANumber (Object wal) {
if (val instanceof Number) ({
return true;
jelse {
try {
Double.parseDouble (val.toString()):
return true;
}catch (NumberFormatException ex) {
return false;

A. Change Line 1 to an abstract class: public abstract class API {

B. Change Line 2 access modifier to protected: protected void checkValue(Object value) throws
lllegalArgumentException;

C. Change Line 1 to a class: public class API {
D. Change Line 1 to extend java.lang.AutoCloseable: public interface API extends AutoCloseable {

E. Change Line 2 to an abstract method: public abstract void checkValue(Object value) throws
lllegalArgumentException;

Correct Answer: CE

QUESTION 2

Which describes a characteristic of setting up the Java development environment?

A. Setting up the Java development environment requires that you also install the JRE.
B. The Java development environment is set up for all operating systems by default.

C. You set up the Java development environment for a specific operating system when you install the JDK.
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D. Setting up the Java development environment occurs when you install an IDE before the JDK.

Correct Answer: D

Reference: https://docs.oracle.com/javame/8.1/sdk-dev-guide/install.htm

QUESTION 3

Given:

public class Test {
private int sum;
public int compute() {
int x = 0;
while(x < 3) {
Sum += X++;
}
return sum;
}
public static void main(String[] args) {
Test t = new Test();
int sum = t.compute();
sum = t.compute();
t.compute () ;
System.out.println(sum);

What is the result?

A.9

B. An exception is thrown at runtime.
C.3
D.6

Correct Answer: D
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» Console 2 " Console 3 %

Completed with exit code: 0

QUESTION 4

Given:

var 1 = 10;

var j = 5;

i+= (3 *S+3)/1i1-2;
System.out.println(i);

What is the result?
A.5

B.3

C.23

D. 25

E. 11

Correct Answer: B

QUESTION 5

Given:

void myLambda () {
int 1 = 25;
Supplier<Integer> foo = () -> 1i;
1++;
System.out.println(foo.get());

}

Which is true?
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A. The code compiles but does not print any result.
B. The code prints 25.

C. The code does not compile.

D. The code throws an exception at runtime.

Correct Answer: C
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